Income tax is a non-voluntary contribution made by the working
population.

It is used to support government expenditure on aspects such as
education, health, social care, public order and safety.

Income tax is usually deducted from directly from earnings by the
employer — ‘Pay as you Earn’, ‘PAYF’.

Your earnings before tax deductions are known as your GROSS earnings.

Your earnings after deductions (‘take home pay’) are known as your NET
income.

In most countries income tax is charged on a scale which depends on
your income, so those who earn the least pay less tax (zero tax in some

instances) and those with greater wealth pay more.

In the UK in 2018, the income tax bands are:

For example (1), calculate the income tax paid by the following individuals who
are working in the UK:

Taxable income Tax
Rate
Up to £11850 0%
£11851 to £46350 20%
£46351 to £150000 40%
Over £150000 45%

a. David, police officer, £37 583 pa
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b. Karen, Air Traffic Controller, £51 609 pa
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c. Peter, Junior Reporter, £15 500 pa
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d. Tracy, Chief Executive, £750 000 pa
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Challenge #1

David is considering emigrating to either Australia, France or Japan. Using the
information given below, can you advise hé¥ as to which countryshe should

1y
emigrate if she wishes to pay the least amount of tax on her earnings.
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Challenge #2

Karen’s father Reg, was also an air traffic controller who worked during the
1970’s when income tax was charged differently. Given that Karen’s
equivalent salary in 1975 would have been £8 500, work out whether it is
Karen or Reg who had the greatest tax burden on their incomes.

What assumptions are you making?
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Tracy’s equivalent salary in 1975 would have been £92 000. How does her tax
burden compare under the 1975 and 2018 tax regimes?
Thas (Lt )
: ! L
i3
' O
I,j S \ *~ (c’, ':4\ - "‘ };(-
gs08 .67 = e
-]J"'I’\l" \ .-.‘/ : ;;’\; ;"r'
P e /
» TEY g .
}':.‘ﬁ"‘- )"}.-E(f‘ — ,{-! A ‘;4;1 il 7 f(':j:/y’ ;,!‘ﬁ
/ : ‘d:d ’ ; l g— — -
(gL ooo o 9p ?..ﬂh-::";( L = 7 9 3o 71200 /
——— - #3] '{f ./
--j;" - .I} ™~ = - a 9 "

Corperst o 571 '«‘Z.e;lf‘






